:j M3 )

@6 34+ /0 =
| | B3% = foo = 634

634 |& = o -
~L 9 |

/ :
G| l= L\ B K

Dlze || B|F N | T |AHl,
;;%2 1'7 T:‘T /{7\“;') ’T L _%_o
[
s 13 | F #¥- |7 v |3

_ |[foet 1
|

|
= e — = =
i
|

£3.#

L34 foo = 0,634
|

87 T 5 TN T o o e e e

| |
100 1000
73 N

o

L ——

!
' o = 1D
72 03] & @
i H 4
] 63 4| @
| RS T : :
I 100 | /! : 6 3 4 :
|0'00 10 A 3
| il 7 S MRS ST
: [0 o i

. 3

4

|
| (9~7:~FesHic BRo2Erdenid.)

P13

Y= N
0.124 L

foo ||

‘ !
0.0 25 5o

= : e Do
|"')\<‘ H/'}Lg %) /aﬁ; /195/% = Z? zﬁz‘q‘t,“?’%e B

BIDCRIUKXDIC, BCIZTTDH (SO
634. O CBALD) ChHR
(fI) Z2Z23Z22EEANOIINCTT,




BCEAR I/
@ 23, 95 o = 0023 85‘

G 62_.5 /o= 0625

L[t | '\Ooa*ifrmﬁohwaﬁﬁ)zﬂ o
N | Ewd . L E). Om%‘%/p*fsch |

‘ | Dz)\ 29 T, /f,zﬂ\ 9277»22“5
‘&5 ,djffgrb%t i FE ;b\Fia!L,

I ’*’{Li“t’w o &7%@%

iulh(‘{l“' B




